fraction/bin

Ratio to ATLAS

[HEN
D

=
N

10

0.5

13000 GeV pp Jets
_| Tt T T T T | T T L | T 1T T 1T T 17 |_ 9
- Relative P, (ATLAS jet fragmentation) 4z
B =
B m ATLAS - 2
[ --=-- Pythia 6.428 359 N
| —A— Pythia 6.428 370 =
— Pythia 6.428 a — ;
[ ---+-- Pythia 6.428 dw 5
| —o— Pythia 6.428 p0 &
L ¥ Pythia 6.428 pro-q2o —
B o’
— ™
@
— (9]
©
B o
(9]
B —
- >
— X
S,
B e
B (&)
- c
(o]
- Q
- )
I
B o
(&)
- S
I
o 2
— —0.5
| L 1 1 1 L 1 | L 1 1 1 L 1 L | 1 L 1 L 1 L 1 L |
0 1 3

textrm{

textrm{rea (2

positive values only)



	Contents
	Page 1


